Tue, Oct 15, 2019 MATH 450A Quiz 5

Coletrony.

Name: (print)

Each problem is worth 2 points. Show all your work.

1. Let f(z) = amz™+. .. +a1z+ag be a polynomial of odd degree. (i) Use the Intermediate
Value Theorem to show that f(z) = 0 has at least one real root. (ii) Show that the
range of f is R.
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Please turn over...



9. Given that § = {z € R: %> — 2z — 3 < 0}, show that inf(S) = —1.

XL py—2= (x#/)()(—:%)
X—ax3<col=> KXH(Z9Y, K -3 <O
Z=> Xz -L ;X<E.
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3. Given that - TM — € /Q-" (s 7; o Loy o "C/$

{sn.sn—l-l—z = n €N}

show that the set S has 3 as its upper bound. \/j
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